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= 3 - 75 g, XD e E(R 22 (P
long N, Product, p; double dX, dY, dZ, dP; bool Tesult = long.TryParse(tertB0X4.Text, out N);
bool result2 = long. TryParse(textBox3.Text, out p);
if (result && result2){ textBox5.Text="";
for longy=1; y <=N; y++){ Product =2 * y * y;
for (long z=1; z <= N; z++){
if (Product=z* ((p-2)*z-(p-4))¢{
for (long x = 1; x <= N; x++){dX = (double)x; dY = (double)y; dZ = (double)z;dP = (double)p;

if ((dX * (dX + 1.0)) == Product){ textBox5.Text += "X=" + x.ToString() + ", ";
textBox5.Text +="Y="+ y.ToString() + ", ";
textBox5.Text +="Z="+ z.ToString() + Environment.NewLine;} } } } }

MessageBox.Show("52H%"); }

else {MessageBox.Show("N W B IEFEHL, p WJH >=5.");}
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